NOTICE OF AWARD

January 15, 2025

MUREX DIAGNOSTIC PRODUCTS SPECIALIST

#8 Bonifacio St., Poblacion East, San Nicolas, Pangasinan 2447 Tel No.: 08-89628743; 09209687133

Email: info@murexdiagnostics.com

Sir / Madam:

Please be advised that based on the results of the PUBLIC BIDDING conducted by the National Center for Mental Health for the SUPPLY AND DELIVERY OF LABORATORY (CLINICAL) SUPPLIES AND REAGENTS CY 2025 (EARLY PROCUREMENT ACTIVITY), the following items are hereby awarded to your company:

ITEM NO.	ITEM CODE	QTY	UNIT	ITEM/SPECIFICATIONS	UNIT PRICE	TOTAL PRICE
				GS; RAPID IMMUNOASSAYS- under rand sublot B- for Items No. 68-76	eagent tie-up	
tems No.	53-67 unde	er sublot A	1			***************************************
he win	ning bidde	r for iter	n nos. 53	-67 under sublot A shall provide and ful	fill the following:	
. One (1) unit rapia	immunoc	assay analy	yzer using fluorescence immunoassay method,	capable of multi-cart	ridge testing.
. Free r	eagent cont	rols, calib	rators, an	d other consumables.		
3. Analyz machines		e compati	ble for LIS	S connection and should provide for all necess	sary drivers for LIS co	nnection for new
	******************	-		ier shall pay the annual LIS connectivity and	maintenance fee to the	LIS provider
1. Free n	onthly chec	ck up and	quarterly .	Preventive Maintenance and Calibration.		
. Free p	arts replace	ement in c	ase of mac	chine breakdown.		
				ble pipettors and one (1) 10-100 uL adjustable conducted biannually.	e pipettors with orbita	l rack, with free
7. Provia	le 24 hours	a day, 7 d	'ays a weel	k technical support and aftersales support.		
3. Provis	ion of a bac	к-ир тас	hine with t	the same specification within 24 hours in case	s of equipment breakd	'own.
	ble top anal at and reage			table (non-porous, non-absorbent material) w age.	vith enclosed cabinet f	or equipment
10. Curre	ent and valid	d certifica	te of Man	ufacturer's compliance with ISO 13485		
	idder shall roval certif		ne manufac	cturer's approved US FDA Premarket Notifica	ution (PMN) or Europe	ean Conformity (CE)
12. Must	provide end	l-user trai	ining for a	ll laboratory staff operators.	35954(8511115)-9751-311151-3551-3751-3751	
53	CLI- 004	600	test	Total Prostate Specific Antigen (PSA), with at least 1 year expiry Brand: ICHROMA Origin: South Korea	336.00	201,600.0
	l	12	There i	s no Health without Mental J	tealth"	

Trunkline: 8531-9001 Website: www.ncmh.gov.pH









_							and the first of the party of the first of t
	54		200	test	Carcinoembryonic Antigen (CEA), with at least 1 year expiry Brand: ICHROMA Origin: South Korea	336.00	67,200.00
	55		50	test	Cortisol, with at least 1 year expiry Brand: ICHROMA Origin: South Korea	336.00	16,800.00
	56		200	test	Urine Microalbumin, with at least 1 year expiry Brand: ICHROMA Origin: South Korea	336.00	67,200.00
	57		50	test	Luteinizing Hormone (LH), with at least 1 year expiry Brand: ICHROMA Origin: South Korea	360.00	18,000.00
	58		200	test	Beta Human Chorionic Gonadotropin (BHCG), with at least 1 year expiry Brand: ICHROMA Origin: South Korea	336.00	67,200.00
	59		50	test	Follicle Stimulating Hormone (FSH), with at least 1 year expiry Brand; ICHROMA Origin: South Korea	336.00	16,800.00
	60		200	test	High sensitive C-Reactive Protein (hsCRP) with at least 1 year expiry Brand: ICHROMA Origin: South Korea	300.00	60,000.00
	61		900	test	C-Reactive Protein (CRP), with at least 1 year expiry Brand: ICHROMA Origin: South Korea	300.00	270,000.00
	62		100	test	Alpha-Feto Protein (AFP), with at least 1 year expiry Brand: ICHROMA Origin: South Korea	336.00	33,600.00
	63		50	test	Triiodothyronine (T3,) with at least 1 year expiry Brand: ICHROMA Origin: South Korea	270,00	13,500.00
	64		50	test	Thyroxine (T4), with at least 1 year expiry Brand: ICHROMA Origin: South Korea	270.00	13,500.00
	65		100	test	Total IgE, with at least 1 year expiry Brand: ICFIROMA Origin: South Korea	380,00	38,000.00
	66		400	test	Rheumatoid Factor IgM, with at least 1 year expiry Brand: ICHROMA Origin: South Korea	780.00	312,000.00
٠.	67	68-76 under	100	test	Influenza A and B, with at least I year expiry Brand: ICHROMA Origin: South Korea	720.00	72,000.00

1. One (1) unit immunoassay analyzer with the following features;

a. CLIA methodology

b. Capable of multi-parameter sample testing

c. Bench top analyzer

d. Minimum throughput speed of at least 36 test/hour

- e. Support both automatic and manual sampling.
- f. Capable of auto washing system
- 2. Free reagent controls, calibrators and other consumables.
- 3. Analyzer should be compatible for LIS connection and should provide for all necessary drivers for LIS connection for new machines.
- a. For new and existing machines, supplier shall pay the annual LIS connectivity and maintenance fee to the LIS provider
- 4. Current and valid certificate of Manufacturer's compliance with ISO 13485
- 5.The bidder shall provide the manufacturer's approved US FDA Premarket Notification (PMN) or European Conformity (CE) mark approval certificate.
- 6. Free monthly check up and quarterly Preventive Maintenance and Calibration.
- 7. Free parts replacement in case of machine breakdown.
- 8. Provide one (1) 100-1,000 uL adjustable pipettors and one (1) 10-100 uL adjustable pipettors with orbital rack, with free preventive maintenance and calibration conducted biannually.
- 9. Provide 24 hours a day, 7 days a week technical support and aftersales support.
- 10. Provision of a back-up machine with the same specification within 24 hours in cases of equipment breakdown.
- 11. For table top analyzers, must provide table (non-porous, non-absorbent) with enclosed cabinet for equipment placement and reagent and supplies storage.
- 12. Provide one (1) computer set per machine, for digital storage and access of results and shall be connected to the Laboratory Information System with the following specifications: CPU with at least 11th generation intel i5 or AMD equivalent microprocessor, with at least 8 gigabyte RAM, at least 1th HDD, with preinstalled operating system and word processing software; LED monitor at least 22 inches, laser printer (with provision for toner during the entire duration of the contract), keyboard and mouse.

13. Must provide end-user training for all laboratory staff operators.

 68		500	test	Procalcitonin, 25 test/box with at least one year expiry Brand: DRAWRAY-ISTAR Origin: China	780.00	390,000.00
69		900	test	D-Dimer, with at least one year expiry Brand: DRAWRAY-ISTAR Origin: China	350.00	315,000.00
70		1,500	test	Pro-BNP, with at least one year expiry Brand: DRAWRAY-ISTAR Origin: China	850.00	1,275,000.00
71		1,500	test	High sensitive-Troponin I, with at least one year expiry Brand: DRAWRAY-ISTAR Origin: China	650.00	975,000.00
 72	CLI-005	500	test	Ferritin, 25 test/box with at least one year expiry Brand: DRAWRAY-ISTAR Origin: China	350.00	175,000.00
 73		100	test	Total Vitamin D, with at least one year expiry Brand: DRAWRAY-ISTAR Origin: China	850.00	85,000.00
74		200	test	Anti-Thyroid Peroxidase (Anti-TPO), with at least one year expiry Brand: DRAWRAY-ISTAR Origin: China	1,286,00	257,200.00
75		100	test	Anti-Nuclear Antibody (ANA), with at least one year expiry Brand: DRAWRAY-ISTAR Origin: China	1,250.00	125,000.00
76		50	test	Vitamin B12, with at least one year expiry Brand: DRAWRAY-ISTAR Origin: China	850.00	42,500.00

				ТОТ	AL AMOUNT	₱ 4,959,100.00
216	CLI-097	1,000	pc	Cryovial with internal thread, high density polyethylene cap and star grip base, sterile, Rnase and Dnase free, 2ml capacity Brand: NO BRAND Origin: China	8.00	8,000.00
197	CLI-081	100	test	Leptospira IgG/IgM Rapid Test kit, with at least 1 year expiry Brand: BASECHECK Origin: USA	180.00	18,000.00
191	CLI-075	200	test	Hepatitis A Virus (HAV) antibody (IgG IgM) screening test, rapid chromatographic cassette test, with at least 1 year expiry Brand: BASECHECK Origin: USA	100.00	20,000.00
189	CLI-073	200	test	HBsAg, one step, rapid chromatographic test cassette, with at least 1 year expiry, with certificate of validation from NRL-SACCL Brand: LUMIQUICK Origin: USA	30.00	6,000.00

You are hereby required to submit the following within ten (10) calendar days:

Notarized Contract Agreement Form (Legal Size) for the PUBLIC BIDDING FOR THE SUPPLY AND DELIVERY OF LABORATORY (CLINICAL) SUPPLIES AND REAGENTS CY 2025 (EARLY PROCUREMENT ACTIVITY)

NOTE: The signatory shall be NOEL V. REYES, MD, FPPA, MMHoA, MEDICAL CENTER CHIEF II: and

Performance Security in any forms and amount stipulated below:

A.	Cash or Cashier's / Manager's Check issued by a Universal of Commercial Bank.	
В.	Bank draft/guarantee or irrevocable letter of credit issued by a Universal or Commercial Bank: Provided, however, That it shall be confirmed or authenticated by a Universal or Commercial Bank, if issued by a foreign bank.	Five Percent (5%) of the Total Contract Price
C.	Surety bond callable upon demand issued by a surety or insurance company duly certified by the Insurance Commission as authorized to issue such security.	Thirty Percent (30%) of the Total Contract Price

NOTE: Failure to provide any of the aforementioned requirements within ten (10) calendar days shall constitute sufficient grounds for cancellation of this Award and forfeiture of the Bid Security.

Truly yours,

NOEL V. REYES, MD, FPPA, MMHoA

Medical Center Chief II

Authorized Representative (Name & Signature)

Date and Time

Page 4 of 4

NOTICE OF AWARD - MUREX DIAGNOSTIC PRODUCTS SPECIALIST Public Bidding (Supply and Delivery of Laboratory (Clinical) Supplies and Reagents CY 2025 - Early Procurement Activity)

LAHT